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B/C 34.5(B:2,800 c:81
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e HI3 51 216ha
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360
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51 14 - 51 13
1,780 - 1,687
B/C Hi8 3.1 B:8,414 C:2,718
14 17 13 3
16 7 0.5m
26 m3
14 17 41,000MWH 10,800
S51 H13 1,681
5.2%
15
17
6.9
( )
)
Ho 13 6.9 B/C B 10.33 C=9.34
C=99
B/C=1.6 B=157 C=99

99




(H32) - 717,600 . H17) 17,412 /
(H13) 194
2.3 (B:969  C:420 )
(S60) 19.0kn/h (H17) 45.1kn/h
(F10 12 )56.7 . (14 16 )67 /
500m - 120m 3 L1
S49 HI3 194
co2 4,400t
(H32) - 717,400 . (H17) 13,236 /
(H13) 66
2.2 B:273 122 )
(H6) 20.8kn/h (H17) 39.6kn/h
(H10 12 )16.0 . (H14 16 )2.7
S50 HI3 66
co2 1,878t
(H32) 11,500 . (H17) 11,900
(H13) 140
1.5 (B:361  C:240 )
(H13) 30.0kn/h (H17) 56.5kn/h
10 12 9.7 . (13 15 )1.0
S51 HI3 140
co2 990t
(H32) 28,800 . (H17) 25,684
(H13) 41
2.3 (8:227  C:99 )
(H11) 35.5k/h (H17) 50.1kn/h
o 12 y13 /- H14 16 )19.3 /
400m — Om 4 50
WL HI3 4

€02 4,000t




(H32) 36,100

- (H17) 33,353

(H14) 77
3.0 (B:340 c:114 )
(H11) 29.0kn/h (H16) 37.7kn/h
(Ho 11 )11.7 - (H14 16 )9.7 /
S8 Hia 77 c02 1,373t
416 /- 537 / 17
119 - 109
B/C 3.4(B:582 C:169
109
(H6 H13)
1,589 /- 2,001 / 17
117 - 114
B/C 7.8(B:1,197 C:154
( 114
(H8 H13)
528 /- 300 / 17
61 - 71
B/C 1.3(B:135 €:102
71

(H5 H13)




